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o FAR SR AY
« Of 22 E O} G412 go E2 stop = & 4= ULt
. OIOF stop= MEHFHH 82 HET Aol Z2
. DoF goB MEHEHE, 42 BT FAQIS S2UCH
.+ DIOFZAIY HIPTH B2 2210, A B2
+ OfL|H LS 2t2C 2 2184
« MDP R EIZ]
« OIAEAAAIM. T ={1,23,...}
. MEH-T'—7FS = {in, end}
» WSS A = {go, stop}, Aeng = {stop}
. Jgﬁﬂamag
* P.(inlin,go) = 2/3
* P;(end|in,go) = 1/3
* P(inlin,end) =0 P.(end|end, stop) = 1
* Pi/(end|in,end) =1
. HAE
* 1:(in,stop) = $8, r.(in, go) = $4, ri:(end, stop) = 0

P.(inlend, stop) = 0
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o DRQkgoE MEHSHH, QHFE%AI--.—IE =2|C}
. EI|-O|=2A|.O| 741'.7'.1 ze_l.ﬁl}llm =g
« OIL|HCHS 22 = 213
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- M| A

QN AIA: T ={1,2,3, ...}

MEjE7HES ={0,1,2, ..., M}

H=Z7HA, ={0,1,2,...,M — s}

HEHO|SHE

(0 ifM>j>s+a
Psta—j I M=s+a=2j>0

Z p, ifM=s+aj=0
Eél' \J:jzs+a
* re(s,a)=F(s+a)—0(a)—h(s+a)

pt(jlsl a) = 3

T’

2 (Z2 QAIZ 2] OlA|

{0 ifu=s
5t(u)_{5—u ifu<s
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